'H2

FRE22FE ENAmtE AR RBFEHERES RE
IR A DEB H
=% 18 =] FHEE(A) | REZE(B) |HLEEHEE(A—B) -
01 &iEE 4,560,000 4,560,000 0
01 &iEE 4,560,000 4,560,000 0
01 BEE 4,560,000 4,560,000 O|ENAETHAES
02 EEXHE 3,840,000 3,840,000 0
01 EEMME 3,840,000 3,840,000 0
01 EEfbE 3,840,000 3,840,000 0|masxmmtt Breaszanns
03 #Rss 0 0 0
01 #Rs 0 0 0
01 #Rs 0 0 0
04 EHURA 0 357 A 357
01 FHURA 0 357 A 357
01 A 0 357 A 357|F| 2
v A & &t 8,400,000 8,400,357 A 357
X HDER M
e 15 =] FEHEE(A) | REZE(B) |HLEEHEEA-B) -
01 7% E 0 415,347 A 415347
01 ##%E 0 415,347 A 415347
01 =& 0 386,030 A 386030/ ZEHE. 2EFZAR
02 EHRE 0 29,317 A 29317 |REBEREEN . FHH
02 BXE 0 7,538,055 A 7,538,055
01 EXHEE 0 7,538,055 A 7,538,055
01 BXE 0 7,538,055 A 7538055 EI%E £, BIEAMHER
02 AEMEE 0 0 0
03 FlHEE 8,400,000 0 8,400,000
01 FHE 8,400,000 0 8,400,000
01 FlHE 8,400,000 0 8,400,000
X & & 8,400,000 7,953,402 446,598
IR AR EEE 8,400,357
X HREEE 7,953,402
BEERHEE 446,955




